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1 Answer the questions in pairs. Write your answers in the Our answer column.

What shade of green are you?

Our answer Expert answer
1 The developed world makes up 20% of the world’s population. ;
How much of its resources does it consume?
a20% b50% c¢70% d85% D I:]
2 The population of the world is expected to have nearly
year 2100.
ahalved bdoubled ctripled d quadrupled
3 Every day species of plants and animals become extinct.
al-10 b15-35 ¢35-50 d more than 50
4 How many mobile phones will be thrown away in the next year?
a 10 million b 50 million ¢ 100 million ~ d more than 100 million
5 The energy used by all the electrical appliances on standby in the UK amounts to
tonnes of greenhouse gases per year.
2100,000 b 150,000 ¢500,000 d 1 milion
- . Dawea e
6 Recycling just one aluminium can saves enough energy to run a television
for how long?
a3hours bS5hours c¢8hours d 12 hours

by the

1 square kilometres of rainforest are destroyed each year.
21,000 b10,000 ¢100,000 d 1000,000
8 Since 1960 there has been a increase in the consumption of fish.

LB LD [

ad0% b100% ¢180% d240%

9 Every year, the average person in the west creates how much household waste?
ab3kgs b73kgs c©253kgs d513kgs I:’
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2 Student A read the left part of the article and Student B read the right part. Complete the Expert answer column
in 1 together.

l' Consumption by the developed world far outstrips 20%, though we are 5 All those little red lights on TVs, stereos and computer monitors add up

only 1/5 of the world population. In fact, we use up a shocking 85% of 0 a severe drain on our power stations. In one year, one million tonnes
the world’s resources. Turn that figure around and we see how many of greenhouse gases are pumped into the atmosphere from just leaving
people in the world suffer from western over-consumption . appliances on standby rather than switching them off at the wall.

6 The energy taken to make one aluminium can in a factory is

2 Planet Earth is currently home to around 6.6 billion human beings.
Projections show that with growing populations by 2100 this figure will
be nearer to 14 billion which is almost 3 times as many as now. Does
that sound overcrowded to you?!

3 Extinction can be a natural process but these days a great deal is
due to exploitation of land causing habitat loss, the use of chemicals
which causes environmental contamination and the introduction of

considerable so whenever you recycle a can, you save enough to
ower a TV for 3 hours.

Many poor farmers in rainforest areas in countries such as Brazil,
Congo, Indonesia and Peru are being offered large sums of money
o sell their land which results in deforestation at a rate of 100,000
square kilometres every year. That is one third of the size of Poland.

~

non-native species. As a result between 50 and 100 species of fauna 8 Fish can provide many essential nutrients for the human body and far
and flora are estimated to die out each day. more people now are making the most of this. However, though it may
4 According the David Adam in the Guardian Newspaper (8 January be good for our health as individuals, it's no good for the balance of
2005), the average mobile phone user in the UK gets a new handset nature. The increase in consumption is over 200% and is simply not
every 18 months. Although there is a huge market for old mobiles sustainable, with many fish stocks at risk due to over-fishing to meet
in developing countries, 125 million are just thrown in the bin each this demand.
year. What a shocking waste when there are companies, such as 9 How much do you think you weigh — somewhere around 60kg? If
mazumamobile.com, who will recycle your old handset and even pay 50, you may bestunned to learn that the average amount of waste
you forit. produced in a year by just one person in the developed world is over

= eight times your body weight (513kg)!
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